Comparison of the ruleset of organism #18 at generations 3 and 30

Generation 3 - genome

if (East in interval [9 - 9]) then = Move to (0,1,0)

if (CellType in interval [2 - 2]) then = Don't clone in dir (0,1,0)
if (East in interval [4 - 4]) then = Clone in dir (0,0,-1)

if (Division in interval [278 - 487]) then = Don't die

if (Timesteps in interval [134 - 345]) then = Clone in dir (1,0,0)
if (Division in interval [49 - 484]) then = Move to (0,0,1)

if (Division in interval [373 - 402]) then = Don't clone in dir (1,0,0)
if (North in interval [3 - 3]) then = Don't clone in dir (1,0,0)

if (Timesteps in interval [220 - 405]) then = Don't clone in dir (1,0,0)
if (Timesteps in interval [346 - 458]) then = Don't move in dir (0,1,0)
if (Down in interval [5 - 5]) then = Move to (1,0,0)

if (East in interval [1 - 1]) then = Move to (-1,0,0)

if (CellType in interval [2 - 2]) then = Clone in dir (-1,0,0)

if (East in interval [0 - 0]) then = Don't clone in dir (0,0,-1)

if (Down in interval [8 - 8]) then = Don't die

if (Up in interval [6 - 6]) then = Die

if (Down in interval [5 - 5]) then = Move to (0,-1,0)

if (North in interval [0 - 0]) then = Don't die

if (Up in interval [0 - 0]) then = Don't clone in dir (0,0,-1)

if (West in interval [5 - 5]) then = Die

if (CellType in interval [1 - 1]) then = Move to (1,0,0)

if (North in interval [1 - 1]) then = Clone in dir (-1,0,0)

if (CellType in interval [0 - 0]) then = Don't move in dir (0,-1,0)
if (North in interval [7 - 7]) then = Don't move in dir (0,1,0)

if (South in interval [9 - 9]) then = Don't die

if (West in interval [5 - 5]) then = Don't die

if (Division in interval [242 - 493]) then = Die

if (Down in interval [1 - 1]) then = Clone in dir (0,-1,0)

if (Up in interval [0 - 0]) then = Clone in dir (0,0,1)

if (Timesteps in interval [328 - 421]) then = Clone in dir (0,0,-1)
if (North in interval [3 - 3]) then = Die

if (CellType in interval [1 - 1]) then = Die

if (Division in interval [454 - 484]) then = Don't die

if (North in interval [1 - 1]) then = Clone in dir (0,0,-1)

if (North in interval [6 - 6]) then lone in dir (0,0,1)

if (North in interval [0 - 0]) then lone in dir (0,0,1)

if (Down in interval [4 - 4]) then = Move to (0,0,1)

if (Up in interval [5 - 5]) then = Clone in dir (0,0,1)

if (West in interval [5 - 5]) then = Move to (0,1,0)

if (CellType in interval [2 - 2]) then = Don't die

if (Timesteps in interval [397 - 483]) then = Die

if (CellType in interval [0 - 0]) then = Don't clone in dir (1,0,0)
if (Down in interval [3 - 3]) then = Die

if (Division in interval [249 - 302]) then = Move to (0,-1,0)

if (Division in interval [247 - 391]) then = Die

if (West in interval [0 - 0]) then = Clone in dir (0,-1,0)

if (Down in interval [6 - 6]) then = Don't move in dir (1,0,0)

if (Up in interval [8 - 8]) then = Move to (0,-1,0)

if (East in interval [7 - 7]) then = Don't move in dir (0,-1,0)

if (Division in interval [59 - 481]) then = Move to (0,0,1)

if (CellType in interval [0 - 0]) then = Move to (1,0,0)

if (South in interval [1 - 1]) then = Don't clone in dir (0,0,1)

if (Timesteps in interval [210 - 238]) then = Clone in dir (0,1,0)
if (Division in interval [420 - 481]) then = Clone in dir (0,0,-1)
if (Up in interval [7 - 7]) then = Clone in dir (0,0,-1)

if (Down in interval [6 - 6]) then = Don't die

if (Up in interval [9 - 9]) then = Clone in dir (1,0,0)

if (Up in interval [4 - 4]) then = Don't move in dir (1,0,0)

if (Timesteps in interval [142 - 334]) then = Don't clone in dir (0,1,0)
if (West in interval [4 - 4]) then = Die

if (Division in interval [359 - 378]) then = Don't die

if (Division in interval [215 - 422]) then = Move to (0,0,-1)

if (West in interval [3 - 3]) then = Don't clone in dir (0,1,0)

if (Division in interval [34 - 270]) then = Die

if (Timesteps in interval [2 - 116]) then = Clone in dir (0,1,0)

if (South in interval [2 - 2]) then = Clone in dir (1,0,0)

if (West in interval [7 - 7]) then = Clone in dir (-1,0,0)

if (West in interval [0 - 0]) then = Don't die

if (Division in interval [41 - 309]) then = Die

if (North in interval [7 - 7]) then = Move to (0,1,0)

if (CellType in interval [0 - 0]) then = Don't clone in dir (1,0,0)

if (West in interval [5 - 5]) then = Clone in dir (0,0,-1)

if (West in interval [5 - 5]) then = Clone in dir (0,0,-1)

if (Timesteps in interval [104 - 179]) then = Don't move in dir (1,0,0)
if (South in interval [5 - 5]) then = Don't die

if (West in interval [4 - 4]) then = Clone in dir (1,0,0)

if (Up in interval [6 - 6]) then = Don't move in dir (1,0,0)

if (East in interval [6 - 6]) then = Don't die

if (CellType in interval [1 - 1]) then = Don't move in dir (0,1,0)
if (Division in interval [23 - 491]) then = Die

if (East in interval [7 - 7]) then = Clone in dir (0,0,1)

if (East in interval [5 - 5]) then = Move to (0,1,0)

if (Timesteps in interval [23 - 40]) then = Don't clone in dir (1,0,0)
if (North in interval [6 - 6]) then = Don't clone in dir (1,0,0)

if (Division in interval [338 - 410]) then = Move to (0,1,0)

if (Up in interval [0 - 0]) then = Die

if (Down in interval [0 - 0]) then = Don't die

if (Timesteps in interval [171 - 488]) then = Clone in dir (0,1,0)
if (CellType in interval [1 - 1]) then = Clone in dir (0,0,1)

if (North in interval [4 - 4]) then = Move to (1,0,0)

if (East in interval [1 - 1]) then = Die

if (Timesteps in interval [151 - 286]) then = Die

if (North in interval [5 - 5]) then = Clone in dir (0,0,-1)

if (South in interval [6 - 6]) then = Don't move in dir (0,-1,0)

if (Timesteps in interval [152 - 235]) then = Don't die

if (Down in interval [4 - 4]) then = Don't clone in dir (0,-1,0)

if (South in interval [3 - 3]) then = Don't move in dir (0,-1,0)

if (Up in interval [4 - 4]) then = Don't move in dir (0,0,-1)

if (Division in interval [28 - 300]) then = Die

if (Down in interval [3 - 3]) then = Move to (1,0,0)

Table |

Generation 30 - genome

if (South in interval [3 - 3]) then = Don't move in dir (0,0,1)

if (CellType in interval [2 - 2]) then = Don't clone in dir (0,1,0)
if (West in interval [3 - 3]) then = Don't die

if (Division in interval [278 - 487]) then = Don't die

if (Timesteps in interval [134 - 345]) then = Clone in dir (1,0,0)
if (Division in interval [49 - 484]) then = Move to (0,0,1)

if (South in interval [4 - 4]) then = Clone in dir (-1,0,0)

if (Up in interval [8 - 8]) then = Don't move in dir (0,1,0)

if (East in interval [2 - 2]) then = Clone in dir (0,0,-1)

if (North in interval [3 - 3]) then = Clone in dir (0,-1,0)

if (CellType in interval [1 - 1]) then = Don't move in dir (-1,0,0)

if (Timesteps in interval [96 - 382]) then = Clone in dir (0,0,-1)

if (South in interval [2 - 2]) then = Die

if (West in interval [2 - 2]) then = Move to (0,0,1)

if (Down in interval [8 - 8]) then = Don't die

if (Up in interval [6 - 6]) then = Die

if (Down in interval [5 - 5]) then = Move to (0,-1,0)

if (North in interval [0 - 0]) then = Don't die

if (Up in interval [0 - 0]) then = Don't clone in dir (0,0,-1)

if (East in interval [4 - 4]) then = Don't move in dir (0,-1,0)

if (CellType in interval [1 - 1]) then = Move to (1,0,0)

if (West in interval [8 - 8]) then = Move to (0,-1,0)

if (CellType in interval [0 - 0]) then = Don't move in dir (0,-1,0)
if (North in interval [7 - 7]) then = Don't move in dir (0,1,0)

if (South in interval [9 - 9]) then = Don't die

if (West in interval [5 - 5]) then = Don't die

if (Division in interval [242 - 493]) then = Die

if (Down in interval [1 - 1]) then = Clone in dir (0,-1,0)

if (Up in interval [0 - 0]) then = Clone in dir (0,0,1)

if (Timesteps in interval [328 - 421]) then = Clone in dir (0,0,-1)
if (North in interval [3 - 3]) then = Die

if (CellType in interval [1 - 1]) then = Die

if (Division in interval [454 - 484]) then = Don't die

if (North in interval [1 - 1]) then = Clone in dir (0,0,-1)

if (North in interval [6 - 6]) then = Clone in dir (0,0,1)

if (North in interval [0 - 0]) then = Clone in dir (0,0,1)

if (Down in interval [4 - 4]) then = Move to (0,0,1)

if (Up in interval [5 - 5]) then = Clone in dir (0,0,1)

if (West in interval [5 - 5]) then = Move to (0,1,0)

if (CellType in interval [2 - 2]) then = Don't die

if (Up in interval [O - 0]) then = Die

if (CellType in interval [0 - 0]) then = Don't clone in dir (1,0,0)
if (Down in interval [3 - 3]) then = Die

if (Division in interval [249 - 302]) then = Move to (0,-1,0)

if (Division in interval [247 - 391]) then = Die

if (West in interval [0 - 0]) then = Clone in dir (0,-1,0)

if (Timesteps in interval [193 - 200]) then = Don't clone in dir (0,0,1)
if (Up in interval [8 - 8]) then = Move to (0,-1,0)

if (East in interval [7 - 7]) then = Don't move in dir (0,-1,0)

if (Division in interval [59 - 481]) then = Move to (0,0,1)

if (CellType in interval [0 - 0]) then = Move to (1,0,0)

if (South in interval [1 - 1]) then = Don't clone in dir (0,0,1)

if (Timesteps in interval [210 - 238]) then = Clone in dir (0,1,0)
if (Division in interval [420 - 481]) then = Clone in dir (0,0,-1)
if (Up in interval [7 - 7]) then = Clone in dir (0,0,-1)

if (Down in interval [6 - 6]) then = Don't die

if (East in interval [7 - 7]) then = Move to (0,-1,0)

if (CellType in interval [0 - 0]) then = Move to (0,0,-1)

if (West in interval [6 - 6]) then = Don't clone in dir (0,-1,0)

if (Up in interval [7 - 7]) then = Don't clone in dir (0,0,1)

if (Down in interval [4 - 4]) then = Die

if (Division in interval [215 - 422]) then = Move to (0,0,-1)

if (West in interval [3 - 3]) then = Don't clone in dir (0,1,0)

if (Division in interval [34 - 270]) then = Die

if (Up in interval [8 - 8]) then = Move to (0,0,1)

if (South in interval [2 - 2]) then = Clone in dir (1,0,0)

if (West in interval [7 - 7]) then = Clone in dir (-1,0,0)

if (West in interval [0 - 0]) then = Don't die

if (Division in interval [41 - 309]) then = Die

if (North in interval [7 - 7]) then = Move to (0,1,0)

if (Up in interval [7 - 7]) then = Don't move in dir (0,0,-1)

if (West in interval [5 - 5]) then = Clone in dir (0,0,-1)

if (South in interval [7 - 7]) then = Don't clone in dir (1,0,0)

if (Timesteps in interval [104 - 179]) then = Don't move in dir (1,0,0)
if (East in interval [2 - 2]) then = Don't clone in dir (0,1,0)

if (West in interval [4 - 4]) then = Clone in dir (1,0,0)

if (Timesteps in interval [31 - 256]) then = Clone in dir (0,0,1)

if (East in interval [6 - 6]) then = Don't die

if (CellType in interval [1 - 1]) then = Don't move in dir (0,1,0)
if (Division in interval [23 - 491]) then = Die

if (Timesteps in interval [356 - 498]) then = Don't die

if (East in interval [5 - 5]) then = Move to (0,1,0)

if (Timesteps in interval [303 - 426]) then = Move to (0,0,-1)

if (North in interval [6 - 6]) then = Don't clone in dir (1,0,0)

if (Division in interval [338 - 410]) then = Move to (0,1,0)

if (Up in interval [0 - 0]) then = Die

if (Down in interval [0 - 0]) then = Don't die

if (Timesteps in interval [171 - 488]) then = Clone in dir (0,1,0)
if (Division in interval [31 - 164]) then = Clone in dir (1,0,0)

if (North in interval [4 - 4]) then = Move to (1,0,0)

if (East in interval [6 - 6]) then = Clone in dir (0,-1,0)

if (Timesteps in interval [151 - 286]) then = Die

if (North in interval [5 - 5]) then = Clone in dir (0,0,-1)

if (CellType in interval [0 - 0]) then = Move to (0,1,0)

if (Timesteps in interval [152 - 235]) then = Don't die

if (Timesteps in interval [201 - 327]) then = Move to (0,1,0)

if (South in interval [3 - 3]) then = Don't move in dir (0,-1,0)
if (Up in interval [4 - 4]) then = Don't move in dir (0,0,-1)

if (Division in interval [28 - 300]) then = Die

if (North in interval [2 - 2]) then = Don't clone in dir (0,0,1)




